Hello
We request an EA based on the Stochastic (ST) indicators and the Awesome Oscillator (AO) (Bill Williams) in MQL5, that must solve a 6-signal system based on the following rules:
CALL Signal 1:

*The AO in signal“Two pikes” (Below the zero line)
*The smallest minimum of AO histogram (below the zero line) WITHIN an area comprised by a level or control zone, we will call it EFFECTIVE THRESHOLD
*ST below or above a certain lower level
*%D line crossing below %K line
*ONLY when ALL conditions are met and maintained, issue the buy signal, if any of the conditions expires, no signal is issued
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CALL Signal 2:
*The AO in“Zero line crossing” signal (coming from below the zero line)
*The smallest minimum of the AO histogram (below the zero line) WITHIN an area comprised by a level or control zone, we will call it EFFECTIVE THRESHOLD
*ST above or above a certain lower level
*Line% D inside line% K
*ONLY when ALL conditions are met and maintained, issue the buy signal, if any of the conditions expires, no signal is issued
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CALL Signal 3:
*The AO in“Saucer” signal in the histogram zone above zero
*% D line crossing below% K line
*ONLY when ALL conditions are met and maintained, issue the buy signal, if any of the conditions expires, no signal is issued
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Put Signal 1:

*The AO in signal "Two pikes" (Above the zero line)
*The greatest maximum of the AO histogram (above the zero line) WITHIN an area comprised of a level or control zone, we will call it EFFECTIVE THRESHOLD
*ST above or above a certain lower level
*Line% D crossing over the line% K
*ONLY when ALL conditions are met and maintained, issue the sales signal, if any of the conditions expires, no signal is emitted
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Put Signal 2:
*The AO in “Zero line crossing” signal (coming from above the zero line)
*The greatest maximum of the AO histogram (below the zero line) WITHIN an area comprised of a level or control zone, we will call it EFFECTIVE THRESHOLD
*ST below or above a certain lower level
*Line% D above line% K
*ONLY when ALL conditions are met and maintained, issue the sales signal, if any of the conditions expires, no signal is emitted
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Put Signal 3:
*The AO in“ Saucer” signal in the histogram zone below zero
*Line% D crossing over the line% K
*ONLY when ALL conditions are met and maintained, issue the sales signal, if any of the conditions expires, no signal is emitted
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Considerations:
1. A SIGNAL system is desired, not an EA, the intention is to receive the signal notification in some way (the desirable way is for ejample email), so stop loss, trailing stop or take profit values ​are not required.
2. It must be applicable to any time frame and any FX Signal.
3. The ST parameters (%K, %D, slowdown, price and method) the ST upper levels, the AO“ EFFECTIVE THRESHOLD” control levels be variable and the AO must be default calculated from each time frame
4. Conformity will be considered, only if it can be verified that for each signal by the robot, each of the parameters has been executed and none has expired.
5. EA source code is required.
6. Both indicators need to be displayed in select parameters.
